
Exam 1: Chem tLt4 Fall 2OL4
Version B 100 points

1.1. How old is Doc Fong's boy cat ? t3

2.1. What is the magnitude associated with a T ?

t12
lc

c) 0.04560000 /

e) 1oo I

/26

q
d) ¿.1.00*10 z¡q

Your name: At-,s.^ro..

1.2 What is Doc Fong's boy cat named I i(tz.. z-.,

1.3. What university did Doc earn his Ph. D. at ?

1.4. How many cats does Doc Fong have at home ?

1.5. What is the universal obsession of chemists f þ'\o [. c .-{. o

2.2. Convert 0.001 g to its equivalent, prefixed form:

2.3. The magnitude L0-e has what prefix name (not symbol) associated with ? rta n a

2.4. What is the symbol connected to 10-12? o

2.5. Convert 3,000,000,000 m to its correct prefixed form: i G W

2.6 Write 100 kg in scientific notrtion'L-l Q 
I

o.oo1 r, = lO* 
þ 

o* (2 pts each)

o.oo5.r = 0.Ol rt
8500 cg = 0.0 çl ¡*

O.O31T5= jf es

250,000 nm = 7 <,0 pm

4.1. How many significant figures are in each of the numbers below ?

a) o.ooqo Z b) 6ooooool r

I
vI ,

fl 2.1J,L 1



Atomic # Mass # symbol #p #n #e Atom charge-tq
lQ s- Au 1q 11,6 +q 0

as 80 [3" 35 $r 35 )

Exam 18 (continued)

4.2. Compute to the correct significant figure count: ( 2 pts each)

0.00300 +0.90 +2+61.r= 6tt+

3 -0.0001+3000000 = 3Ú 00c oc L)

5.1 Compute to correct sig fig count:

5.2. Compute to correct sig fig count:

page 2

1.500* 1.0090 = 5, Ò 3 pts each

1.0* 0.5003

(2+0.000L4)=

0.5000*0.5

6.c

?

5.3. Compute to the correct sig fig count:

2.0-0.102000 + 6.00*6.0 =I --r 4.50* 1.999
?,o

t-t.o

6.1. An isotope is an element with with a specific count.of I.r€k4-r-orej

6.2. Electrons are: heavier @ the same mass as protons. (Circle your choice)

6.3. How many neutrons in 64Cu(Cu has 29 protons). 3t Lq--zq ? 3 s

6.4. Provide names or symbols forthe elements below: (spelling counts)

Mg YYl4 a Ylq (', u t¿"
J

n, qo H
_-,--r-

Sn lr t^ beryllium-&

7 .1. Fll in the missing information (4 points for each completely correct line)

mercurv Hq
a'----:-

eold A L.,

6¿ alZ¡vnavt'. v tt-

ng S', lvo y

cr cLro 4A.Ltt14

_J33



Exam 18 (continued) page 3

7.2. Compute the average atomic mass of the hypothetic element Bo given the information
below:

Bumass# %abundance=Pr
L98.0 ì1 40 : 1Q ¿ o

9 qs ç average mass of Bo= I4Q , z- (to nearest 0.1 )199.0 45
203.0 15

-lo¡
j o+Ç

I crct{o
,1

144 zo -----,'
loõ.

8.1. Provide the name or formula for the compounds below. (You may use your Periodic Table as an aid.)
Note: COg2-= carbonate CzOq2- = oxalate spelling counts | (2 pts each)

1

lzuo .__ = 20
bq

t tithium oxide = C', nC

r 'nY"t *

/

1

,,o^ It vL'r,,trln u,", E1... on , Lchromium(*)carbonate= C"= (Cal" ),

c^croo Cq <', o^^ ç¡+-aL'6- copper(t) nitride= G , N

MnCls =

9.1. Compute the molecular weight (MW) for: NaHCO:. (Use your Periodic Tables and round to nearest l-
g/mol) No lJ C 3D(2 pts)

ZS -i I r tL r 5xf6 = 1* rNaHCo¡/mor

9.2. The MW of acetic acid is 60 g/mol How many moles of are in l,2OO grams of it?
(4 pts)

d ,.du -F

/ 
to'

ZO molacetic acid

9.3. How many grams are in 5.0166*1023 molecules of phosphoric acidfRssume 1 mole count=6.02*1023
n 4Ç'1 /^-l (round answer to nearest gram) ( a pts)

d , ,. dr ,p / ^"tf ,na.-rúo*.
.zj

-r.ol b b ,(ô

1o'oa 
^"t

yønl 
R
\

{

J26
Fz g acetic acid



Exam 18 (continued) page 4

Show work for all problems or no credit

l-0.1 Given that propane (C:Ha) has a molecular mass of 44 g/mol and l- mole count=6*1023:
How many molecules of propane are in 88 grams of propane ? (5 pts)

q
.J

t-Þl cf tv.ch,? /^,14 &Jr*.4\
\ tf t u'tf' '=

¿þ +v
2. The molecular mass of NOz is 46 g/mol. Given that l- mole count =6*1023, how many grams of NOz

are in7.82 *l-022 molecules of NOz ? (5 pts)

L)
lZ' t> molecules propane

(" 
moles TNT

t.ç

n^e[ ñ)

JL5
af : L

c{ ,r, d..p /^,tl ,h Jo*

X IL¡
Vvtq

-':: /
b _gNOz

11.1 TNT has the formula CgHrzOsNs. A sample of this explosive material is found to contain ZS'å gram of
N (atomic weight 14 g/mol). How many moles of TNT are present ? (5 pts)

h.,ól N/: Zsz
lT

vw,ol lNf I

3

rç'-l


